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1. Ne;zge the convention,

(A) Steel (B) Lead
(C) Glass (D) Marble
2. Haryana is called as the
(A) Breadbasket of India
(B) Land of flowers
(C) Land of temples
(D) Pious State
3. Shrey went to the movies nine days ago.
He goes to movies only on Thursday.
What day of the week is today ?
(A) Thursday (B) Saturday
(C) Sunday (D) Tuesday

4. What is the kind of road sign ?

(A) Police signal
(B) Cautionary sign
(C) Mandatory sign

- (D) Information sign -
The book written by the Chinese traveller
Xuan Zang depicts the glory of ____ of
Haryana.
(A) Thanesar
©) Mahendfagarh

Find the missing number (?) from the

- (B) Patiala
(D) Kurukshetra

alternatives for the series.
42, 48, 60, 66, 78, 7, 96
(A) 130 B) 40
(©) 84 (D) 93
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1. sﬁmﬂwwm'

®) E= 1

(C) el &t
(D) afed T ;

3. St f ved firen 3G TN o1 98 Faw
TEaT 3t Tohed G ST & | Al 371! HeTe bl

IR’
: @ T

~(A) TRT :
(C)fear (D) WTAAR

4. T U uTE foFe TR AT & ?

-~ (A) gefta gehd
(B) T Hohd
(C) e Hehd
(D) FEFT Fehel
5. i amh & T g foreht meht g s
¥ HIANI IR | ,

(A) YT (B) ufearer

(C) W= (D) FF&T

6. 3T el % fore g W (?) i TEga
faepedt 3 A )
42, 48, 60, 66, 78, ?, 96

(A) 130 (B) 40
(C) 84 D) 93
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I'hg Sumoftho
I8 equal

(A) 3600

t
hl‘uu nnl{lnr-c in nny ""i“lwlu

(@) 1800 O
. ‘ (D) 2700
O, “ (‘(\) = x'00 4 i 4o xhn |
i . “ . BRI ;\’ ' l 'l
(1) is equal to o
l‘\
((C: f“ﬁl (B) 6049
; ) 50560 (D) 60061
Yoo s the oldest canal { Har
(A) Bhiwan;j canal o
(B) Bhaken canal
(C) Western and Eastern Yamuna Canal
(D) Gurgaon canal
10. Name the symbol of elc;:l;rical and
electronic elements.
(A) D.C. (B) A.C./D.C.
(C) Earth (D) A.C..
11. Rabindranath Tagore renounced his

“Knighthood” after o

(A) Jallianwala Bagh Atrocities
(B) Non Co-operation Movement.
(C) Civil Disobedience Movement
(D) Quit India Movement

Example for Potential energy
(A) Water stored in a Tank
(B) Coil Spring '
(C) Both (A) and (B)

(D) None of the above

A horizontal pipe of cross-sectional diameter
5 cm carries water at a speed of 4 ms™. The
pipe is connected to a smaller pipe with a
cross sectional diameter 4 cm. The velocity
of water through the smaller pipe is

(A) 6.25 ms™ (B) 5 ms

(C) 3.2 ms™ (D) 2.56 ms™

9.

10.

11:

12,

13..
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foptfy afy g % Al
b7

(AN) 300°

(C) 180°

ufa f(x) = x'""+ %
(1) . &

) 90
) 277 4
W g xz’yﬂ Ayisset %+ 1

(B) 5049

(A) HOLI 500’)]
© D(Jﬁ(i\ -ﬁmr:g”:ﬁw%'

(A) frarh e

(13) WTE e

(. e 7 T

(D) T[T e . -

Y T

"\ o

A) . ®) eH. /-

AN () TH.

iz 31w 3 frg et o a6 T
| «qgege” W U@ R ?

(A) ST & AERR.

(B) sr@Ed SReH

(©) whr s e

(D) A SR AReH
(A) ThSH AT O :

B) iz fEm

(Q) (&) W B) T

(D) 90 | & g T

IR HIE S 5 cm & Th Qfas 157 /
SA4ms' N ITAR | ST IEITH 4 cm

FHIE H Tl Th 3 IET ¥ S

TR 2| B UTST % W § S 60 A *
(A), 6.25 ms™ (B) 5 ms!
(C) 3.2 ms™! (D) 2.56 ms!
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15.

16.

18.

19.

20.

21.

Q2

What ix the SLounit of Prosayrg v

s ,N i M) J
Lo (D) rad/uce

A 18 0 Ry
—— [uence of inat
that perform a particulny luukH .
(A) Software
(B) Hardware
(C) Program
(D) Operating system
1 pa (Pascal) =
(A) 1000 N/m?
(C) 100 N/m?
Haryana r_nnks first in the production of
in the country.
(1) Cement (B) Tractor
(C) Car (D) Scooty
Brass is an alloy of
(A) copper and aluminium
(B) zinc and aluminium
(C) copper and zinc
(D) none of the above

The metals in the middle of the act1v1ty

(B) 1 N/m?
(D) 10 N/m?

series are &
(A) highly reactive SH1E (R -,'

(B) moderately reactive-

(C) less reactive

(D) unreactive

Who among the following is the last ruler
of Mughal dynasty ?

(A) Mohammad Shah

(B) Farrukshiyar

(C) Bahadur Shah II

(D) Aurangazeb

Convert 24% into fraction.
(A) 6/24 (B) 6/26
(D) 2/26

(C) 3/15
4-

14,

16,

16.

17.

18.

19.

20.

21.
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oneu I,
et 71w, k. (B.0) EE A
9\) N/m? (B)

() ks

(n) rad/sec
i 71 07 7 P Freh From

|rn (qrehe) =
1000 N/m?
((J). 100 N/m*

g, 30—
AT |
(A)Rﬁﬁz
(C) FR

(B) 1 N/m?
(D) 10 N/m?

3724  fqu aam

(B) 37T
(D) ZE

a0 freg 81 Wﬁg\)\

ffad .~
(AT 3T W“”W

frafafad § & HH-91 A 99 atfem
YT o1 7

(A) WIgHE Y8

(B) FEERER

(C) FETR e 11

(D). 3T

949  fore § e |
(A) 6/24
(C) 8/15

(B) 6/25
(D). 2/25
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23.

24.

25.

26.

27.

28.
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i gy of
The heavy soil found in 1 hanesn
Haryana is known a8 .
(\) Dabar {B) [Knithal
(D) None of these

(©) Nelli .
The 14" Summit of NAM in 2006 was he

(A) Delhi (B) Dhalka
(C) Columbo (D) Havana |
-awn) having

When two or more circles (dr kg
, they are called concentric circles.

(A) different center
(B) tangent center
(C) common centre

(D) none of the above
he disk

When you format a magnetic disk, t
called

drive creates a set of concentric rings,
on each side of the disk.

(B) Spindle
(D) Sectors '

(A) Tracks
(C) Boot sector

High Court of Punjab. and Haryana

when the Haryana State came mto ‘the |

existence in November 1966.

(A) Justice A. B. Saharya N

(B) Justice Harbans Singh- 1%

(C) Justice Mehar Singh- Rl

(D) Justice Ramlal- - -

Which of the following country’s:
Tri-service force contingent participated
in India’s 72 Republic Day Parade ?
(A) Sri Lanka - .

B) Brazil _ . Tt

(C) Bangladesh N
(D) None of the above ’

Which grade pencﬂ is the hardest pencﬂ ?

(A) 7B (B) 2B
((:)) 5’1;1: (]:)) : E}]E;

was the Chief Justice of the

22.

23.

24.

25.

() T BFX

Jag.
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27.
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e

A % 72 A Ty Raw Wt # ettt 3
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(&) e
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(C) wieTeEr
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30.

31.

32.

33.

~ (C) Dharma Vira

34.
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The Fir it

ct 1rst British Governor General in
India
(A) Warren Hastings
(B) Lord Canning
(C) Lord Dalhousie
(D) Lord Mountbatten
Virendel: Sehwag scored his maiden double
century in One Day International cricket
against '
(A) West Indies
(C) Newzeland
The converse of ‘If today is Monday, then
tomorrow is Tuesday’ is
(A) If tomorrow is Tuesday, then today

is Monday
(B) Iftoday is not Monday, then tomorrow

is Tuesday B
(C) If tomorrow is not Tuesday, then

today is Monday

(D) None of these iy

Find the H.C.F. of the numbers 24, 72, 100.
@A) 2 ®B) 6

(C) 4 ®s

Who was the first Goverhbr bf Haryana ?
(A) B.N. Chakraborty -
(B)-G.D. Tapase

(B) England
(D) Australia

(D) R.S. Narula
A is a transmission path over
which data or information-in the form
of electric signals, is passed from one
component to another in a computer.
(A) Arithmetic Logic Unit (ALU)

(B) Control Unit (CU)

(C). Bus

(D) Registers

-6-
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36. Momentum = mass x
(A) gravity
(B) acceleration
(C), velocity
(D) none of the above
36. Our body works within the pH range of
A) 7-8 (B) 7.0-9.4
C) 7-178 (D) 7.6-8,0
37. 1Acre=
(A) 1000 cent (B) 100 cent
(C) 10 cent (D) 1 cent
38. Who composed ‘Amritvani’ in Haryanvi
language ?
(A) Sant Garibdas
(B) Guru Gorakhnath
(C) Raja Ram Shastri
(D) Jetram
39. When does solar eclipse takes ﬁlace ?
(A) Full moon day
(B) When the moon is the clOsest to the
earth _ ,
(C) When the moon is in between the. ¢
sun and earth on new moon day
(D):When earth is in between meon and
sun on new moon day
-40. Which is the immediate life savmg care
and support ? =
(A) ’anst Aid
(B) Call a doctor
(C) Intensive care
(D) Medical treatment
41. In 1833 British formed a new North
Western province with as
its Headquarters to which Haryana
belonged to.
(A) Agra (B) Lahore
(C) Amritsar (D) Meerut

36.

36.

37.

38.

(») 7-8
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AT = TSI x

(A) TETRE

(B) @RI

© &

(D) ITed H & HIg A2

TAR AR Y pH #oft § el e 31

(B) 7.0-9.4
(D) 7.5—8.0

C) 718
1 TS =
(A). 1000 &2 (B) 100%

(C) 10 D) 1%
gt o i aqqaamﬂ"aﬁlmf?mﬁﬁ?
(A) Td TR

(B) T TT@T

i (C}wmwa‘l

39.

O s
TR FA A 7

(A) Hifetm
(B)aaamqw%ﬁwﬁ

© aamawésﬁqa‘szm‘éﬁi i gei 6

40..

41.

= s S

@)mwawé%ﬁqqmﬁajaﬂta‘s{m
% = s e

amasﬂaﬂmmﬁnmﬁq—m
¥,

(A) m&r’rﬁmﬁrﬁam

(B) ST hl I

(C) T S@HTa

(D) Tufercan sram

1833 1, Toifew 3 wfmmn & vefte s T s

g@nmmmﬁmﬁmg@m
a

(A) TR
(C) AYTH

®) TER
(D) W@
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41.

48.  Which one is the purest form of Iron ?
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Within n group of 9.4 om

company, it in known 100)

Fplinhy 11O wponk Hingj il Mnnmnnk
Tolupa Hin nlbo lonown that 1) :-:"t,ulc
both Knglinh and Hindi, 5o Bponlc I[m"k
Hindi aud 'Tolugu, 60 aponk lml.l'l el
and nglish, whilo 20 sponk |i
Hindi ns woll an Tolup,
thom speak only Hindij
(\) bO (B) 20
(CG) 30 (DY 80

Which is tho physical hazard ?
(A) Smoking (B) Vibration
(D) None of these

ployooy, ol n

Tolugpy
] "

» npligh,
[How many of

(C) Corrosive
Which of the following is not the worlk of
poot Khushiram Sharma ?
(A) Guru Gobind Singh
(B) Sur Sagar

(C) Yuddha Charita

(D) Rana Nimantrana

Four turners finish a job in 300 houkrs.
How much time will 6 turners take'to do
the same job ?
(A) 200 hours
(C) 100 hours

(B) 300 hours
(D) 50 hours

Which electronic component is used as a
solid state switch ? :
(A) Inductor

(C) Capacitor

(B) Resistor

(D) Transistor
Where in Haryana the first bio-gas plant
was setup ? ‘ ’

(A) Hissar
(C) Sonipat

(B) Panipat
(D) Sirsa

(A) Pig Iron
(B) Cast Iron
- (C) Wrought Iron

(D) Steels and Alloy steels‘

'I 2.

43.

44.

45.

46.

47.

48.

TR 3 240 bt 2

Py - . S Im =E J ? T T
SIS AN %, 110 oy oty ::T‘q i
B3 g 5 S iy Ffy s 3?7131:,;,
T O TP
({34 (Hmm'mﬁ - ) ) ‘r‘-))
N DO A iy

A e 'é\_’Fslf:::FZU-'fiﬁ?ﬂ,fFfo‘«f];jnr'

(€30 (D) 80

EE ke ﬁﬁm@maﬁq-m%?

(A) ‘-IWH (B) Fqq

(C). Aeqmeh (D) 378 T =7 75
Frfefaa § 4 - i3 geiry S
B2 7 o o
(A) & hfsig fig

(B) gLHumTR

(©) gg af@

(D) Trom ey

SR T T F B 300 52 F g0 Ft £

Il B R 6 T e T F e 2
(A), 200 g (B) 300 T

(C) 10092 D) 50 €S

fohet geiereifes ook 1 swim wifre we ferm

ST R ST ? )

(A) TeFR (B) Siatas

(C) GuTia D) TR

Wﬁwﬁa—ﬁaéﬁaaﬁwﬁaﬁm

T

) fram (B), T

(C) Hrftad D) frn

ST 1 TR & T HH-T1 ?

Ay T oA

(B) HE IH

(C) T 3=

(D) Eiew 3R fseng P
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(0. The Jawaharlal Nehru Port is located in 49,  SETEETe ﬁmw

(A) Wosl. Bengal (A)"ERZ e —_— o 5
(B) Kerala (B) e

(¢) Maharashtra (C) HeTIZ

(D) None of the nbove (D) IFTR F1E 7

50. Standard size of the D1 drawing board [ 50. D1 W AS =/ AT A (fq'tﬁﬁ) N
(<]

(in mm)
15
(A) 1600 x 1000 x 26 (g) 5080 ><31000 x 25
(B) 500 x 360 x 15 (B) x 350 x 15
(C) 100 x 500 x 15

(C) 100 x 600 x 156
(D) 1000 x 700 x 26 (D) 1000 x 700 x 25

51. Demandof PunjabiSubain 1948 was first | 51. 1948 T YSTTefl g T 91T gmeht T 3

raised by 33'|'§ |
(A) Pratap Singh (A) T fag
(B) Sant I"ateh Singh (B) T4 e g
(C) Pandit Neki Ram © fsa 4t T
(D) Master Tara Singh @) AR A i
52. Transmission of heat takes place in 52 OFHIH U =i g BE _%l
ways. - B
(A) Three d B) Two (4) 97 e
(C) Four (D) One (C) IR (D) T
53. Aruna ranks 12 in a class of 46. What | 53. 46 STl ! el & 3TX0N 1 TIH 1297 3,a1
will be her rank from the last 2. el 9 HeHT T fohe 81 ?
(A) 33 B) 34 &) 33 . (B) 34
(C) 35 = (D) 37 Q.35 - D)..37
54. Circumference is the linear length of the | 54. uR{¥, ‘f\t EEACT RUCERCE | A1 SR
entire curve equal to - TR gl 2| $
(A) nR? ®B) nD . (A) nR? .(B) =D
(C) 7R D) mD* (Q) =R : (D) =D?
55. In Haryana, is the Legislative 55. BhEmmy ﬁﬂ'ﬁ[ﬁé?ﬂﬁ%ﬂqw
Assembly Constituency of Bhiwani district. AT ‘
(A) Ladwa - (B) Kaithal (A) STSaT B) FIA -
(C) Balramgarh (D) Loharu (C) JaHTG (D) .AEE
56. .The area of a sector of a cir(?le of radius 6 cm 56, = e cmmﬁ@qaé;gm@gmam
if the angle of the sector 15;60°, is oo afe e g % i 60° %’ a1
(A) 6 ncm? (B) Ecm2 (A) 6 rcm? (B) Ecmg
(C) 60 mem? (D) none (of these (C) 60 mem? D) ?gm 3 Ehﬁ T

9. C
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.‘hig
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n7.

b8,

b9,

6O.

61.

62.

63.

Which among tho following inn l.l'llml;m'_y
of vivor Ghogeone in Hoeynnn ¢

\) Napnfparh () Arvung
(C) Sarvanwalti (1) (j)h”ul’“"”

What is tho
(A\) rad/soc
(©) m/uoe?

(B) 30m g, nuayy
(C) 10w Decembey
(D) None

A Dball jg thrown upwards at

of the above

Bround describing g parabolic path,
Which of the following remaing constant 9
(A) Momentum of the ball

(B) Kinetic energy of the ball

(C) Vertical component of the velocity
(D) Horizontal component of the velogity

The Veda Samaj was inspired by:the
(A) Arya Samaj. '
(B) Ramakrishna Mission
(C) Brahmo Samaj =
(D) Prarthana Samaj

¢ —ttd;

What is the S.I. unit of surface tension?
(A) J/K -
(B) Nm
(C) N/m
(D) None of the above |

; in India

was the State in '

gar;yaanndaate to fix minimum edudatlonal_
qualification for contesting Panchayat
Raj Institution.
(A) 4”1
(C) 2nd

(B) 3rd
(D) 1%

-10-
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b7, Frferfig 1t gy
RARILECE T
(A) it
(C) Trge)

T A g
(A) rad/soe

(D) iy
Tré‘ (S.[,) m q-q.’% ?
C) m/goet () m/ge

. (D) N/mz
69, Cﬂ?ﬂ'ﬁam o
Ty R

(A) 12

(B) 30 Sy
(C), 10 R

68,

60.
L TR g T T
Wﬁﬁzﬁqaﬁmm%lﬁwﬁw@aﬁé
1 e @ 7

(A) e Fr gam

(B) 7T Y it ot

(C) 9 1 3eafer oo

(D) A7 1 A T

61. o5 TH fored S o 7
(A) ¥ T
(B) T i
OERk:CISE
(D) kAT T

Y3 T hl TE.ATE. (S.1) 3HTE FNR ?
A) JK \

62.

(B) Nm
(G N/m
(D) SU0 | W IS T .
T T T T % Y e
S e e R o vy e
T |
(A) e (B) e
Q T (DTSt




g4. 'The points A(=1,

(i

66.

68.

69.

~ (C) Open Hole

www.HaryanadJobs.in

2), B, =1) nml C(2, 6)
are the vertices of

\) leosceles right angled triangle

n) liquilateral triangle

(C) Scalene triangle

(D) None of these

If ___ pasis passed over heated CuO,
ating on the surface turns
place

the black co
brown as the reverse reaction takes

and copper is obtained.

(A) nitrogen (B) oxygen

(C) hydrogen (D) helium

The melting temperature of tungsten is

(A) 4000°C (B) 3380°C:
(C) 5000°C (D) 3180°C

Who founded the city of F aridabad in
Haryana ?

(A) Malik Mahdud Khan

(B) Raja Nuhar Smgh

(C) Jahangir

(D) Sheikh Farid

" is an EEPROM based flash
memory which can be repeatedly erased
and written using electric signals.

(A) Pen drives ' T
(B) Blue ray disc
(C) Digital Video Disc Reoordable (DVD R)

(D) None of these

Name the Rivet Symbol.

L

(A) Site SNAP Headed rivets
(B) Shop SNAP Headed rivets

(D) None of the above

-11-
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64. forg /\(~1 2), B(3, -1y =fm ¢

5 2 & 2, 6)
(A\me‘amﬁmmfﬂga

) Twarg Frgs

(C) ﬁmmgﬁga

(D) 3T A 1S &

65. afe___ A AR T FRF CuoFmm
Y Sren 2, A wren e 1 g R afateen
@ﬁmm%,mmm?&m%l
(A) TTEESH (B) SATefieH
© HESEE D) Bifeam
66. e ol eI ATaHT FoReT 2t & 7
(A) 4000°C (BY, 3380°C
(C) 5000°C D) 3180°C

67.,,gﬂﬁwnﬁmﬁamamﬁwm%aﬁrﬁ?
) Afe AR T
(C) SRR :
(D)amﬁa
68. ___ T& EEPROM STTei Foiel HHI{
R =T e ST et @ i frga T
=1 T ek o S wehdl &1
@ W\gE
~(B) Kife=m
(Q), Teforem dife femp tniema (@ﬁaﬁ@ -3TR)
(D) $H & ig T

69. 39 foe famg =1 T s@m)

(A) TTEE WY Bes e
(B), ITY 99 &<s fae
(C) N B

(D) SR A ¥ 13 &
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70.

72,

73.

74.

75.

Magnzine published by Sahityn Akndem;j
of Hnryana is

(A) Ubharta Haryann

(B) Rajanigandha

(C) Harigandha

(D) Haryana Samvad

A____ s a delicate elass device

that can control and amplify electron;
signals. ¢

(A) Transistors

(B) Vacuum tubes

© Integrated circuits
(D) Microprocessors

French curves are used to draw
(A) Lines (B) Circles
(C) Smooth Curves (D) Angle lines

Pointing towards Riya, Nitin said I am
the only son of her mother’s son’. How is
Riya related to Nitin ?

(A) Niece (B). Cousin

(C) Mother (D) Aunt

- The ASEAN countries who siéne& “to

Bangkok Declaration 1967
(A) India, Malaysia, Philippines, Singapore,
Shri Lanka =

(B) Indonesia, Malaysia, Phﬂi‘p‘pines,

-

Maldives, Thailand |
(C) Indonesia, Ma'léysia,rPhﬂippines,
Vietnam, Thailand e :
(D) Indonesia, Malaysia, Philippines,
Singapore, Thailand

How many Legislative Assermbl'y‘
constituencies are there in Haryana in 20217
(A) 93 ~(B) 90

(©) 80 (D) 85
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{ho correct Bequencs ol oporation

Mhich is : \
W od when using thoe firoe

(o he perform

O
wtinguisher |
2\) Pull, Aim, Sweebp, Squeeroe
l‘ E [}

: . -l
) Push, Arrange, Squeozo, Swoeop
al
(© Pull Aim, Squeeze, Sweep
Yy Pull, op |
(D) Push, Arrange, Sweep, Sequence
b y -

Which of the following is tho oldest radio
station of Haryana ?

() All India Radio, Kurukshetra

B) All India Radio, Gurgaon

(C) All India Radio, Rohtak

(D) All India Radio, Hissar

Which of the following Indim.] State has
the lowest population according to 2011
census ?

A) Goa (B) Sikkim
(C) Nagaland (D) Tripura

What is a Class “A” fire ?
(A) Flammable liquids

(B) Wood, paper, cloth etc.
(C) Gas and liquefied gas

(D) All of the above

Which of the following lakes is the largest
wetland in Haryana ? ‘

(A) Bhindawas lake
(B) Brahma Sarovar
(C) Surajkund lake v
(D) Badkhal lake
linch =
(A) 0.0254 mm
(C) 0.254 mm
The rule of Ballabh

actively involved
struggle was

(A) Yadavindra Singh
(B) Raja Nahar Singh,
(C) Maharaja Agragen
(D) King Prithu

(B) 2.54 mm
(D) 25.4-mm

garh m Haryana and was
in India’s independence
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Euglish Langun go
In the

following Question,
alternatives, chog

treatg childye
A) Dermutologist

B) Gynaecologist
©) Podiatrist
(Dl Paed.iatrician

» Choose the mis-gpelt One,
() Mischeif

(B) Belief
(©) Grief
(D) Relief

Fill in the blank in the following sentence

With suitable Moda] Auxiliaries.

you.speak F‘;re.nch 228
(A) Shall

(B) Must :
(C) Might =

@ Can

Identify the types/kinds of seriteriée in the
following sentences.f:rom:the_'altematives

given below.

Please open the window:

(A) Assertive sentence T
(B) Exclamatory sentence' An
©) Ini:érrbéative séntéppe f
(D) Imperative sentence

n ang infants.
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